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1.  Suppose that the elasticity of demand is 4.  Initial output is 600 units.  Using the pricing equation for a firm with market power, calculate the effect on revenue of raising the price from $10 to $11?

a.
Revenue increases by the amount of $600

b.
Revenue increases by the amount of $3960

c.
Revenue decreases by the amount of $3960

d.
Revenue increases by the amount of $2040

e.
Revenue decreases by the amount of $2040

2.  Recall the pricing equation for a firm with market power.  The price is $6 and the marginal cost is $4.  What is the elasticity of demand?

a.
8

b.
3

c.
3/2

d.
2/3

e.
(
3.    Consider a product that is sold in multiple countries by an international company.  Suppose that the international company producing the product has the same marginal cost in each country.   Then, for that company (pricing to market( means which one of the following things:

a. Prices are set such that marginal revenues are equal across markets

b. Prices are set such that elasticities of demand are equal across markets

c. Prices are set such that relative markups (contribution to margin) are equal across markets

d. Prices are set such that transaction costs are equal across markets

e. Prices are set such that they are equal across markets

4.   Recall the pricing equation for a firm with market power.  The price is $12 and the marginal cost is $8.  What is the value of the Lerner index? __________

What is the elasticity of demand? __________
5.  Pricing to market is sustainable as a consequence of all except which one of the following?

a. Legal protections for companies that hold product trademarks

b. Legal protections for companies that are grey-market importers

c. Products that are differentiated due to customer brand loyalty

d. High cross-border transaction costs

e. High transportation costs

6.
An international business selling a branded good has market power selling to consumers in Country A and Country F.  The firm has the same marginal cost of service the two countries.  The firm(s marginal cost equals 36.  The elasticity of demand is 2 in country A and 3 in country F.  Transaction costs to customers, suppliers and third parties of moving the good either way between Country A and Country F are equal to 20.  Pricing to market suggests which of the following outcomes.

a. Prices will be equal in Country A and Country F

b. The price difference will be PA  − PF = 20

c. PA = 72,  PF = 54

d. PA = 72,  PF = 24

e. PA = 72,  PF = 52

7.
Consider a production technology capable of making either sports cars or sedans. The cost function for either good is C(Q) = 300 + 5Q.  Based on customer preferences, the total market benefits from producing sports cars is V1(Q) = 150Q − 3Q2. The total market benefits from producing sedans is V2(Q) = 210Q −  4Q2. Under autarky, the country can produce either 40 sports cars, or 40 sedans, or 20 cars of each type.  What will the country produce?


a.
Sports cars


b.
Sedans


c.
Both

8.
Using the information in the previous question, suppose that there are two identical countries that can engage in trade. What is the increase in the total benefits for the two countries combined?


a.
7800


b.
7200


c.
4200


d.
600


e.
300

9.
Consider a production technology capable of making either gas or electric stoves. The costs are $25 per unit for 100 stoves and $17 per unit for 200 stoves. Average value per unit among consumers is $80 per unit if consumers have a choice of both types of stoves and $70 per unit if consumers have only one type of stove available. Suppose that there are two identical countries. The costs of trade are t = 12 per unit of either good.  Which situation will occur?


a.
There will be autarky with economies of scale


b.
There will be autarky with product variety


c.
There will be international trade.

10.  Consider the model of monopolistic competition. Let the elasticity of substitution equal E = NS where the elasticity of substitution parameter equals S = 3.   Suppose that firms have marginal costs equal to C = 20 and fixed costs equal to F = 100.  There are two countries with national incomes equals to  IA = 2700 and IB = 4800. 

i)
Find the amount produced for each good at a market equilibrium with monopolistic competition as a function of the number of goods.
ii)
Suppose that the two countries do not trade. Find the number of goods produced in each country and the amount of each good produced in each country.

iii)
Now suppose that the two countries do engage in trade. Find the number of goods produced and the amount of each good produced.
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